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 (I)Textbook: 

A. Put True (√) or False (X): 

1(True) 2(True) 3(True) 4(False)  

5(True) 6(True) 7(False) 8(True) 

B. Answer the following Questions: 

1) Closer co-operation between scientists and scientific institutions all over the world. 

2) Communications – health – agriculture – economic planning and sociological research. 

3) A material which can be given shape by the use of pressure.  

4) Natural plastic as waxes and synthetic plastic like thermosetting plastics. 

 

II- Grammar and Vocabulary 

A. Choose the correct answer; 
 

1)went  2) wake up  3) Both 4) was sent   5) effect 

6) Although  7) because of 8) is being 9) will answer  10) traveled 

11) is spoken 12) up  13) for 14) would have saved     15) Although 

 

Ill- Reading Comprehension 

Answer the following questions:- 

1. Because everyone's eyes are different, and your eyes don't change as you get older- and 

even identical twins have different eyes.  

2. from your voice and finger prints. 

B- Choose the correct answer : 

1. Skin. 

2. The like. 

3. Eye recognition. 

IV- Writing a paragraph 
 

Writing is assessed by the examiner. 

 


